
The ball, assumed as a material point, moves from position A inside the tube. Find the ball velocity at 

positions B and C and the pressure of the ball against the wall of the tube at position C. Ignore 

friction on the curved sections of the tube. 

 

𝑚 = 0,5 𝑘𝑔 
𝑉𝐴 = 20𝑚/𝑠 

𝑡𝐴𝐵 = 2𝑠 
𝑅 = 2𝑚 
𝜇 = 0,20 
𝛼 = 30° 
𝛽 = 45° 

 

 

𝑚 = 0,4𝑘𝑔 
𝑉𝐴 = 0𝑚/𝑠 
𝑡𝐵𝐷 = 2𝑠 
𝑅 = 0,2𝑚 
𝜇 = 0,15 
𝛼 = 30° 

ℎ0 = 10𝑐𝑚 
𝑘 = 1 𝑁/𝑐𝑚 

𝐴𝑑𝑑𝑖𝑡𝑖𝑜𝑛𝑎𝑙𝑙𝑦 𝑓𝑖𝑛𝑑, 𝑉𝐷 
 

 

𝑚 = 0,2𝑘𝑔 
𝑉𝐴 = 10𝑚/𝑠 

𝑡𝐵𝐷 = 1𝑠 
𝑅 = 0,5𝑚 

𝜇 = 0,1 
𝛼 = 60° 

𝑘 = 1,2 𝑁/𝑐𝑚 
𝐴𝑑𝑑𝑖𝑡𝑖𝑜𝑛𝑎𝑙𝑙𝑦 𝑓𝑖𝑛𝑑, ℎ  

ℎ𝑜𝑤 𝑚𝑢𝑐ℎ 𝑠𝑝𝑟𝑖𝑛𝑔 𝑤𝑖𝑙𝑙 𝑑𝑒𝑓𝑙𝑒𝑐𝑡 
 



 

𝑚 = 0,8 𝑘𝑔 
𝑉𝐴 = 3𝑚/𝑠 
𝑡𝐴𝐵 = 0,2𝑠 
𝑅 = 0,4𝑚 
𝜇 = 0,15 
𝛼 = 45° 

𝐴𝑑𝑑𝑖𝑡𝑖𝑜𝑛𝑎𝑙𝑙𝑦 𝑓𝑖𝑛𝑑, 𝑉𝐷 
 

 


